



Received: 12.05.2015
Accepted: 26.09.2015

Year: 2015, Number: 6, Pages: 66-75
Original Article **

COMMUTATIVE SOFT INTERSECTION GROUPS

Irfan Şimşek^{1,*} <irfan.simsek@gop.edu.tr>
Naim Çağman¹ <naim.cagman@gop.edu.tr>
Kenan Kaygısız¹ <kenan.kaygisiz@gop.edu.tr>

¹Department of Mathematics, Gaziosmanpaşa University, 60240, Tokat, Turkey.

Abstract – In this paper, we first present the soft sets and soft intersection groups. We then define commutative soft sets, commutative soft intersection groups and investigate their properties.

Keywords – *Soft sets, Soft intersection groups, Commutative soft intersection groups.*

1 Introduction

In 1999, Molodtsov [23] defined the notion of soft sets to deal with uncertainties. After that the operations of soft sets have been studied Maji *et al.* [22], Ali *et al.* [3] and Çağman *et al.* [13]. By using these operations, some researchers have applied soft sets theory to many different areas, such as decision making [6, 13, 15], algebras [2, 4, 8, 14], topology [9, 25], fuzzy sets [5, 10, 11, 29] and matrix theory [7, 12].

To start the algebraic structures on soft set theory, Aktaş and Çağman [2] defined soft groups in 2007. Afterward, soft intersection groups [8, 19], soft rings [1, 21], soft fields and modules [4], soft semirings [14], soft BCK/BCI-algebras [16], soft p -ideals of soft BCI-algebras [17], soft WS-algebras [24] and soft intersection near-rings [27, 28] have been studied. In this paper, we first present the soft sets and soft intersection groups. We then define commutative soft sets, commutative soft intersection groups and investigate their properties.

2 Soft Sets

In this section, we present basic definitions of soft sets and their operations. For more detailed explanations of the soft sets, we refer to the earlier studies [13, 22, 23].

Definition 2.1. [23] Let U and E be two non empty set and $P(U)$ is the power set of U . Then, a soft set f over U is a function defined by

$$f : E \rightarrow P(U),$$

where U refer to an initial universe and E is a set of parameters.

** Edited by Oktay Muhtaroglu (Area Editor).

* Corresponding Author.

In other words, the soft set is a parametrized family of subsets of the set U . Every set $f(e)$, $e \in E$, from this family may be considered as the set of e -elements of the soft set f , or as the set of e -approximate elements of the soft set.

As an illustration, let us consider the following examples.

A soft set f describes the attractiveness of the houses which Mr. X is going to buy.

U - is the set of houses under consideration.

E - is the set of parameters. Each parameter is a word or a sentence.

$E = \{\text{expensive; beautiful; wooden; cheap; in the green surroundings; modern; in good repair; in bad repair}\}$

In this case, to define a soft set means to point out *expensive* houses, *beautiful* houses, and so on.

It is worth noting that the sets $f(e)$ may be arbitrary. Some of them may be empty, some may have nonempty intersection.

A soft set over U can be represented by the set of ordered pairs

$$f = \{(x, f(x)) : x \in E\}$$

Note that the set of all soft sets over U will be denoted by $S_E(U)$. From here on, "soft set" will be used without over U .

Definition 2.2. [13] Let $f \in S_E(U)$. Then,

- f is called an empty soft set, denoted by Φ_E , if $f(x) = \phi$, for all $x \in E$.
- f is called a universal soft set, denoted by $f_{\bar{E}}$, if $f(x) = U$, for all $x \in E$.
- The set $\text{Im}(f) = \{f(x) : x \in E\}$ is called image of f .

Definition 2.3. [13] Let $f, g \in S_E(U)$. Then,

- f is a soft subset of g , denoted by $f \tilde{\subseteq} g$, if $f(x) \subseteq g(x)$ for all $x \in E$.
- f and g are soft equal, denoted by $f = g$, if and only if $f(x) = g(x)$ for all $x \in E$.

Definition 2.4. [13] Let $f, g \in S_E(U)$. Then,

- the set $(f \tilde{\cup} g)(x) = f(x) \cup g(x)$ for all $x \in E$ is called union of f and g .
- the set $(f \tilde{\cap} g)(x) = f(x) \cap g(x)$ for all $x \in E$ is called intersection of f and g .
- the set $f^c(x) = U \setminus f(x)$ for all $x \in E$ is called complement of f .

3 Soft Intersection Groups

In this section, we introduce the concepts of soft intersection groups (soft int-groups) and soft product with their basic properties. For more detailed explanations of the soft int-groups, we refer to the earlier studies [8, 19].

Definition 3.1. [8] Let G be a group and $f \in S_G(U)$. Then, f is called a soft intersection groupoid over U if $f(xy) \supseteq f(x) \cap f(y)$ for all $x, y \in G$ and is called a soft intersection group over U if it satisfies $f(x^{-1}) = f(x)$ for all $x \in G$ as well.

Throughout this paper, G denotes an arbitrary group with identity element e and the set of all soft int-groups with parameter set G over U will be denoted by $S_G^g(U)$, unless otherwise stated. For short, instead of " f is a soft int-group with the parameter set G over U " we say " f is a soft int-group".

Theorem 3.2. [8] Let $f \in S_G^g(U)$. Then, $f(e) \supseteq f(x)$ for all $x \in G$.

Definition 3.3. [8] Let $A, B \subseteq E$, φ be a function from A into B and $f, g \in S_E(U)$. Then, soft image $\varphi(f)$ of f under φ is defined by

$$\varphi(f)(y) = \begin{cases} \cup\{f(x) : x \in A, \varphi(x) = y\}, & \text{for } y \in \varphi(A) \\ \emptyset, & \text{otherwise} \end{cases}$$

and soft pre-image (or soft inverse image) of g under φ is $\varphi^{-1}(g) = f$ such that $f(x) = g(\varphi(x))$ for all $x \in A$.

Theorem 3.4. [19] Let $f \in S_G^*(U)$ and $x, y \in G$. If $f(xy^{-1}) = f(e)$, then $f(x) = f(y)$.

Definition 3.5. [19] Let G be a group and $f, g \in S_G(U)$. Then, soft product $(f * g)$ of f and g is defined by

$$(f * g)(x) = \bigcup \{f(u) \cap g(v) : uv = x, u, v \in G\}$$

and inverse f^{-1} of f is defined by

$$f^{-1}(x) = f(x^{-1})$$

for all $x \in G$.

Definition 3.6. [20] Let G be a group. If $f \in S_G^g(U)$, then the set $N(f)$ defined by

$$N(f) = \{x \in G : f(xy) = f(yx) \text{ for all } y \in G\}$$

is called normalizer of f in G .

4 Commutative Soft Intersection Groups

In this section, we first define the notion of commutative soft sets and then define commutative soft intersection groups. We also investigate their related properties.

Definition 4.1. Let H be a semigroup and $f \in S_H(U)$. Then the set

$$Z(f) = \{x \in H : y, z \in H, f(xy) = f(yx), f(xyz) = f(yxz)\}$$

is called centralizer of f in H .

Here, if the semigroup H has right identity then the equality $f(xyz) = f(yxz)$ is reduced to $f(xy) = f(yx)$ for $z = e$, so the condition $f(xy) = f(yx)$ is redundant.

Definition 4.2. Let H be a semigroup and $f \in S_H(U)$. Then f is called commutative in H if $Z(f) = H$.

Definition 4.3. Let H be a group and f be a soft intersection group. Then f is called commutative soft intersection group in H if $Z(f) = H$.

Theorem 4.4. Let G be a group and $f \in S_G(U)$. Then, $Z(G) \subseteq Z(f) \subseteq N(f)$.

Proof. The proof is straightforward. □

Now, we can give an exempla for $Z(G) \neq Z(f) \neq N(f)$ as follows.

Example 4.5. Let $D_3 = \{e, \sigma, \sigma^2, \tau, \tau\sigma, \tau\sigma^2\}$ be the symmetric group and a soft set $f \in S_{D_3}(U)$ is defined as,

$$f(x) = \begin{cases} \alpha_0, & \text{for } x \in \{e, \tau\} \\ \alpha_1, & \text{otherwise} \end{cases}$$

for $\alpha_1, \alpha_0 \in P(U)$.

Now we show that $Z(f) \neq N(f)$.

$$\left. \begin{aligned} f(\sigma\tau) &= f(\tau\sigma^2) = \alpha_1 \\ f(\tau\sigma) &= \alpha_1 \end{aligned} \right\} \Rightarrow f(\sigma\tau) = f(\tau\sigma)$$

$$\left. \begin{aligned} f(\tau\sigma^2) &= \alpha_1 \\ f(\sigma^2\tau) &= f(\tau\sigma) = \alpha_1 \end{aligned} \right\} \Rightarrow f(\tau(\tau\sigma)) = f((\tau\sigma)\tau)$$

$$\left. \begin{aligned} f(\tau(\tau\sigma)) &= f(\sigma) = \alpha_1 \\ f((\tau\sigma)\tau) &= f(\sigma^2) = \alpha_1 \end{aligned} \right\} \Rightarrow f(\tau\sigma^2) = f(\sigma^2\tau)$$

$$\left. \begin{aligned} f(\tau(\tau\sigma^2)) &= f(\sigma^2) = \alpha_1 \\ f((\tau\sigma^2)\tau) &= f(\sigma) = \alpha_1 \end{aligned} \right\} \Rightarrow f(\tau(\tau\sigma^2)) = f((\tau\sigma^2)\tau)$$

so $\tau \in N(f)$. But,

$$\left. \begin{aligned} f(\tau\sigma\sigma^2) &= f(\tau) = \alpha_o \\ f(\sigma\tau\sigma^2) &= f(\tau\sigma^2\sigma^2) = f(\tau\sigma) = \alpha_1 \end{aligned} \right\} \Rightarrow f(\tau\sigma\sigma^2) \neq f(\sigma\tau\sigma^2)$$

so $\tau \notin Z(f)$. Thus $Z(f) \neq N(f)$.

Theorem 4.6. Let H be a semigroup and $f \in S_H(U)$. Then,

$$x \in Z(f) \Leftrightarrow f(xy_1y_2\dots y_n) = f(y_1xy_2\dots y_n) = \dots = f(y_1y_2\dots y_nx)$$

for all $y_1, y_2, \dots, y_n \in H$.

Proof. Proof is by induction on n . Suppose $x \in Z(f)$. Then, for all $y_1, y \in H$

$$f(xy_1y_2) = f(y_1xy_2)$$

by the definition $Z(f)$. Assume,

$$f(xy_1y_2 \dots y_n) = f(y_1xy_2\dots y_n) = \dots = f(y_1y_2\dots y_nx)$$

for all $y_1, y_2, \dots, y_n \in H$. Then,

$$f(xy_1y_2\dots(y_ny_{n+1})) = f(y_1xy_2\dots(y_ny_{n+1})) = \dots = f(y_1y_2\dots(y_ny_{n+1})x) \tag{1}$$

for all $y_1, y_2, \dots, y_n, y_{n+1} \in H$. This can be done for any successive two y 's in (1). So the proof is completed by hypothesis. \square

Theorem 4.7. Let H be a semigroup and $f \in S_H(U)$. Then, f is commutative in H if and only if $x_1, x_2, \dots, x_n \in H$ and $f(x_1x_2 \dots x_n) = f(x_{\sigma(1)}x_{\sigma(2)} \dots x_{\sigma(n)})$ for all $n \in N$ and for any permutation σ of $\{1, 2, \dots, n\}$.

Proof. The proof is easy consequence of Theorem 4.6 \square

Theorem 4.8. Let H be a semigroup and $f \in S_H(U)$. Then,

1. if $Z(f)$ is nonempty, then $Z(f)$ is a subsemigroup of H .
2. if H is a group, then $Z(f)$ is a normal subgroup of H .

Proof. 1. Let $x_1, x_2 \in Z(f)$. Then for all $y, z \in H$, we have

$$\begin{aligned} f((x_1x_2)yz) &= f(x_1(x_2y)z) \\ &= f((x_2y)x_1z) \\ &= f(x_2(yx_1)z) \\ &= f((yx_1)x_2z) \\ &= f(y(x_1x_2)z) \end{aligned}$$

by Lemma 4.6 and clearly $f((x_1x_2)y) = f(y(x_1x_2))$. Hence $x_1x_2 \in Z(f)$. Thus $Z(f)$ is a subsemigroup of H If $Z(f)$ is nonempty.

2. Suppose H is a group. Then $Z(f)$ is nonempty since $e \in Z(f)$. If $x \in Z(f)$, then

$$\begin{aligned} f(x^{-1}yz) &= f(x^{-1}y(xx^{-1})z) \\ &= f((x^{-1}y)x(x^{-1}z)) \\ &= f(x(x^{-1}y)(x^{-1}z)) \\ &= f(yx^{-1}z) \end{aligned}$$

for all $y, z \in H$ and so $x^{-1} \in Z(f)$. Hence $Z(f) \leq H$.
 Next, let $x \in Z(f)$ and $x \in H$. Then for all $y, z \in H$,

$$\begin{aligned} f((g^{-1}xg)yz) &= f(g^{-1}x(gyz)) \\ &= f(xg^{-1}(gyz)) \\ &= f(xyz) \\ &= f(xy(g^{-1}g)z) \\ &= f(y(g^{-1}xg)z) \end{aligned}$$

by Lemma 4.6 and so $g^{-1}xg \in Z(f)$. Thus $Z(f) \triangleleft H$, if H is a group. □

Theorem 4.9. Let G and H be two semigroups, $\varphi : G \rightarrow H$ be an epimorphism and $f \in S_G(U)$. Then,

$$\varphi(Z(f)) \subseteq Z(\varphi(f)).$$

Proof. Let $x \in \varphi(Z(f))$. Then, there exists $u \in Z(f)$ such that $\varphi(u) = x$. So for all $y \in H$,

$$\begin{aligned} \varphi(f)(xy) &= \cup \{f(a) : \varphi(a) = xy, a \in G\} \\ &= \cup \{f(uv) : a = uv, \varphi(v) = y \text{ and } a, v \in G\} \\ &= \cup \{f(vu) : b = vu, \varphi(v) = y \text{ and } v, b \in G\} \\ &= \cup \{f(b) : \varphi(b) = yx \text{ and } b \in G\} \\ &= \varphi(f)(yx) \end{aligned}$$

Similarly, for all $y, z \in H$, we obtain

$$\begin{aligned} \varphi(f)(xyz) &= \cup \{f(a) : \varphi(a) = xyz, a \in G\} \\ &= \cup \{f(uvw) : a = uvw, \varphi(v) = y, \varphi(w) = z \text{ and } v, w \in G\} \\ &= \cup \{f(vuw) : b = vuw, \varphi(v) = y, \varphi(w) = z \text{ and } v, w \in G\} \\ &= \cup \{f(b) : \varphi(b) = yxz\} \\ &= \varphi(f)(yxz) \end{aligned}$$

Thus $x \in Z(\varphi(f))$ and the result follows. □

Theorem 4.10. Let G and H be two semigroups, $\varphi : G \rightarrow H$ be an epimorphism and $f \in S_H(U)$. Then,

$$\varphi^{-1}(Z(f)) = Z(\varphi^{-1}(f)).$$

Proof. Let $x \in \varphi^{-1}(Z(f))$. Then for all $y, z \in G$,

$$\begin{aligned} (\varphi^{-1}(f))(xyz) &= f(\varphi(xyz)) \\ &= f(\varphi(x)\varphi(y)\varphi(z)) \\ &= f(\varphi(y)\varphi(x)\varphi(z)) \\ &= f(\varphi(yxz)) \\ &= (\varphi^{-1}(f))(yxz) \end{aligned}$$

and we have,

$$(\varphi^{-1}(f))(xyz) = (\varphi^{-1}(f))(yxz). \tag{2}$$

Similarly, $(\varphi^{-1}(f))(xy) = (\varphi^{-1}(f))(yx)$ and so $x \in Z(\varphi^{-1}(f))$. Hence $\varphi^{-1}(Z(f)) \subseteq Z(\varphi^{-1}(f))$.

On the other hand, let $x \in Z(\varphi^{-1}(f))$ and $\varphi(x) = u$. Then for all $v, w \in H$,

$$\begin{aligned} f(uvw) &= f(\varphi(x)\varphi(y)\varphi(z)) \\ &= f(\varphi(xyz)) \\ &= (\varphi^{-1}(f))(xyz) \\ &= (\varphi^{-1}(f))(yxz) \text{ (by 2)} \\ &= f(\varphi(yxz)) \\ &= f(\varphi(y)\varphi(x)\varphi(z)) \\ &= f(vuw) \end{aligned}$$

where $y, z \in G$ are such that $\varphi(y) = v$ and $\varphi(z) = w$. Similarly, $f(uv) = f(vu)$. Thus $u \in Z(f)$, so $x \in \varphi^{-1}(Z(f))$. Hence $Z(\varphi^{-1}(f)) \subseteq \varphi^{-1}(Z(f))$ and the result follows. \square

Theorem 4.11. Let G and H be two groups, $\varphi : G \rightarrow H$ be an epimorphism and $f \in S_G(U)$. Then, if f is commutative in G , then $\varphi(f)$ is commutative in H .

Proof. Let $x \in H$. Then there exists $u \in G$ such that $\varphi(u) = x$.

$$\begin{aligned} \varphi(f)(xyz) &= \cup \{f(a) : \varphi(a) = xyz\} \\ &= \cup \{f(uvw) : v, w \in G, \varphi(v) = y, \varphi(w) = z\} \\ &= \cup \{f(vuw) : v, w \in G, \varphi(v) = y, \varphi(w) = z\} \\ &= \cup \{f(b) : \varphi(b) = yxz\} \\ &= \varphi(f)(yxz) \end{aligned}$$

for all $y, z \in H$.

Similarly $\varphi(f)(xy) = \varphi(f)(yx)$.

So $x \in Z(\varphi(f))$ and $H \subseteq Z(\varphi(f))$. Thus $H = Z(\varphi(f))$ and $\varphi(f)$ is commutative in H by Definition 4.2. \square

The next example shows that converse of Theorem 4.11 do not hold.

Example 4.12. Let $D_4 = \{e, \sigma, \sigma^2, \sigma^3, \tau, \tau\sigma, \tau\sigma^2, \tau\sigma^3\}$ be the dihedral group, $N = \{e, \sigma^2\}$ and $\varphi : D_4 \rightarrow D_4/N$ be the naturel homomorfizm. Let $f \in S_{D_4}(U)$ as,

$$f(x) = \begin{cases} \alpha_0, & \text{for } x \in \{e, \tau\} \\ \alpha_1, & \text{otherwise} \end{cases}$$

for $\alpha_0, \alpha_1 \in P(U)$. D_4/N is a commutative group. Then,

$$D_4/N = Z(\varphi(f))$$

so $\varphi(f)$ commutative in D_4/N . But for $\sigma, \sigma^3 \in D_4$,

$$\left. \begin{aligned} f(\sigma(\tau\sigma)) &= f(\tau) = \alpha_0 \\ f((\tau\sigma)\sigma) &= f(\tau\sigma^2) = \alpha_1 \end{aligned} \right\} \Rightarrow f(\sigma(\tau\sigma)) \neq f((\tau\sigma)\sigma)$$

$$\left. \begin{aligned} f(\sigma^3(\tau\sigma^3)) &= f(\tau) = \alpha_0 \\ f((\tau\sigma^3)\sigma^3) &= f(\tau\sigma^2) = \alpha_1 \end{aligned} \right\} \Rightarrow f(\sigma^3(\tau\sigma^3)) \neq f((\tau\sigma^3)\sigma^3)$$

so $\sigma, \sigma^3 \notin Z(f)$. Thus

$$D_4 \neq Z(f).$$

That is, f is not commutative in G .

Theorem 4.13. Let G and H be two semigroups, $\varphi : G \rightarrow H$ be an epimorphism and $f \in S_H(U)$. Then, if f is commutative in H , then $\varphi^{-1}(f)$ is commutative in G .

Proof. Let $x \in \varphi^{-1}(H) = G$. Then for all $y, z \in G$,

$$\begin{aligned} \varphi^{-1}(f)(xyz) &= f(\varphi(xyz)) \\ &= f(\varphi(x)\varphi(y)\varphi(z)) \\ &= f(\varphi(y)\varphi(x)\varphi(z)) \\ &= f(\varphi(yxz)) \\ &= (\varphi^{-1}(f))(yxz) \end{aligned}$$

Similarly, $\varphi^{-1}(f)(xy) = (\varphi^{-1}(f))(yx)$. So $x \in Z(\varphi^{-1}(f))$ and $G \subseteq Z(\varphi^{-1}(f))$. Thus $G = Z(\varphi^{-1}(f))$ and so $\varphi^{-1}(f)$ is commutative in G by Definition 4.2. \square

Theorem 4.14. Let $f \in S_G^*(U)$. Then the set defined by

$$T = \{x \in G : f(xyx^{-1}y^{-1}) = f(e) \text{ for all } y \in G\}$$

is equal to $Z(f)$.

Proof. Let $x \in T$. Then, for any $y \in G$, we have

$$\begin{aligned} f(e) &= f(xy x^{-1} y^{-1}) \\ &= f((xy)(yx)^{-1}) \end{aligned}$$

and $f(xy) = f(yx)$ by Theorem 3.4. Now, for all $y, z \in G$, we have

$$\begin{aligned} f((xyz)(yxz)^{-1}) &= f(xyzz^{-1}x^{-1}y^{-1}) \\ &= f(xy x^{-1} y^{-1}) \\ &= f(e) \end{aligned}$$

and by Theorem 3.4, we obtain $f(xyz) = f(yxz)$ and so $x \in Z(f)$. Therefore, $T \subseteq Z(f)$.

Conversely, if $x \in Z(f)$, then for all $y \in G$

$$\begin{aligned} f(xy x^{-1} y^{-1}) &= f(yx x^{-1} y^{-1}) \\ &= f(e) \end{aligned}$$

by Lemma 4.6. Thus $x \in T$ and so $Z(f) \subseteq T$. Hence $Z(f) = T$. □

Theorem 4.15. Let H be a semigroup and $f, g \in S_H(U)$. Then,

$$Z(f) \cap Z(g) \subseteq Z(f \tilde{\cap} g)$$

Proof. Let $x \in Z(f) \cap Z(g)$. Then $x \in Z(f)$ and $x \in Z(g)$. For all $y \in H$,

$$\begin{aligned} (f \tilde{\cap} g)(xy) &= f(xy) \cap g(xy) \\ &= f(yx) \cap g(yx) \\ &= (f \tilde{\cap} g)(yx) \end{aligned}$$

and for all $y, z \in H$,

$$\begin{aligned} (f \tilde{\cap} g)(xyz) &= f(xyz) \cap g(xyz) \\ &= f(yxz) \cap g(yxz) \\ &= (f \tilde{\cap} g)(yxz) \end{aligned}$$

Thus $x \in Z(f \tilde{\cap} g)$. □

Theorem 4.16. Let H be a semigroup and $f, g \in S_H(U)$. If f and g are commutative, then $f \tilde{\cap} g$ is commutative.

Proof. The proof is straightforward. □

Theorem 4.17. Let $f, g \in S_G^*(U)$ such that $f(e) = g(e)$. Then,

$$Z(f) \cap Z(g) = Z(f \tilde{\cap} g).$$

Proof. By Lemma 4.14, for all $y \in G$,

$$\begin{aligned} x &\in Z(f \tilde{\cap} g) \\ \iff (f \tilde{\cap} g)(e) &= (f \tilde{\cap} g)(xy x^{-1} y^{-1}) \\ \iff f(e) = g(e) &= (f \tilde{\cap} g)(e) = f(xy x^{-1} y^{-1}) \cap g(xy x^{-1} y^{-1}) \\ \iff f(e) = f(xy x^{-1} y^{-1}) &\text{ and } g(e) = g(xy x^{-1} y^{-1}) \\ \iff x \in Z(f) \text{ and } x \in Z(g) & \\ \iff x \in Z(f) \cap Z(g) & \end{aligned}$$

Thus, $Z(f) \cap Z(g) = Z(f \tilde{\cap} g)$. □

Theorem 4.18. Let $f, g \in S_G^*(U)$ such that $f(e) = g(e)$. If f and g are commutative in G if and only if $f \tilde{\cap} g$ is commutative in G .

Proof. The proof is straightforward. □

Theorem 4.19. If $f, g \in S_G(U)$, then $Z(f)Z(g) \subseteq Z(f * g)$.

Proof. Let $x_1 \in Z(f)$ and $x_2 \in Z(g)$. Then for all $y, z \in G$

$$\begin{aligned} (f * g)((x_1x_2)yz) &= \cup \{f(a) \cap g(b) : ab = x_1x_2yz, a, b \in G\} \\ &= \cup \{f(x_1x_2yzb^{-1}) \cap g(b) : b \in G\} \\ &= \cup \{f(x_2yx_1zb^{-1}) \cap g(b) : b \in G\} \\ &= \cup \{f(c) \cap g(b) : cb = x_2yx_1z, c, b \in G\} \\ &= \cup \{f(c) \cap g(c^{-1}x_2yx_1z) : c \in G\} \\ &= \cup \{f(c) \cap g(c^{-1}yx_1x_2z) : c \in G\} \\ &= \cup \{f(c) \cap g(d) : cd = yx_1x_2z, c, d \in G\} \\ &= (f * g)(y(x_1x_2)z) \end{aligned}$$

by Theorem 4.6. Similarly, $(f * g)((x_1x_2)y) = (f * g)(y(x_1x_2))$. Hence $x_1x_2 \in Z(f * g)$ and $Z(f)Z(g) \subseteq Z(f * g)$. □

Theorem 4.20. Let $f, g \in S_G(U)$. If either f or g is commutative in G , then $f * g$ is commutative in G .

Proof. Let f is commutative in G . Then we have $Z(f) = G$. Now,

$$\begin{aligned} G &= G(Z(g)) \\ &= (Z(f))(Z(g)) \\ &\subseteq Z(f * g) \\ &\subseteq G \end{aligned}$$

by Proposition 4.19, so $Z(f * g) = G$. Thus $f * g$ is commutative in G . □

The Theorem 4.19, and the converse of Theorem 4.20, in general, do not hold, even if f and g are soft int-groups, as the next example demonstrate.

Example 4.21. Let $S_3 = \{e, \sigma, \sigma^2, \tau, \tau\sigma, \tau\sigma^2\}$ symmetric group and $f, g \in S_{S_3}(U)$. defined, respectively as, for $\alpha_1 \subset \alpha_0 \subset U$,

$$\begin{aligned} f(x) &= \begin{cases} \alpha_0, & \text{for } x \in \{e, \sigma, \sigma^2\} \\ \alpha_1, & \text{otherwise} \end{cases} \\ g(x) &= \begin{cases} \alpha_0, & \text{for } x \in \{e, \tau\sigma\} \\ \alpha_1, & \text{otherwise} \end{cases} \end{aligned}$$

Theorem 4.22. If $f, g \in S_G^*(U)$ such that $f \subseteq g$ and $f(e) = g(e)$, then

$$Z(f) \subseteq Z(g).$$

Proof. Let $x \in Z(f)$, $f \subseteq g$ and $f(e) = g(e)$. Then for all $y \in G$,

$$\begin{aligned} f(e) &= f(xyx^{-1}y^{-1}) \\ &\subseteq g(xyx^{-1}y^{-1}) \\ &\subseteq f(e) = f(e) \end{aligned}$$

Hence $g(xyx^{-1}y^{-1}) = g(e)$ so $x \in Z(g)$ by Theorem 4.14. Thus $Z(f) \subseteq Z(g)$. □

Theorem 4.23. Let $f, g \in S_G^*(U)$ such that $f \subseteq g$ and $f(e) = g(e)$. If g is commutative in G , then f is commutative in G .

Proof. The proof is easy. □

Theorem 4.24. Let $f \in S_G(U)$. Then, $f(xyx^{-1}y^{-1}) = f(e)$ for all $x, y \in G$ if and only if f is commutative in G .

Proof. The proof is easy by Theorem 4.14. □

5 Conclusions

In this paper, we defined commutative soft int-groups and study some of its properties. As a future works, by using this study one can develop the nilpotent and the solvable groups.

References

- [1] Acar, U., Koyuncu, F., Tanay, B.: Soft sets and soft rings. *Comput. Math. Appl.* 59(2010)3458-3463.
- [2] Aktaş H. and Çağman N., Soft sets and soft groups, *Inform. Sci.* 177(2007)2726-2735.
- [3] Ali M.I., Feng F., Liu X., Min W.K. and Shabir M., On some new operations in soft sets theory, *Comput. Math. Appl.*, 57(2009)1547-1553.
- [4] Atagiün, A.O., Sezgin, A.: Soft substructures of rings, fields and modules, *Comput. Math. Appl.*, 61(3)(2011)592-601.
- [5] Çağman, N., Karataş, S. Intuitionistic fuzzy soft set theory and its decision making, *Intell. Fuzzy Syst.*, 24/4(2013)829-836.
- [6] Çağman, N., Karataş, S., Intuitionistic fuzzy soft set theory and its decision making, *J. Intell. Fuzzy Syst.*, 24/4(2013)829-836.
- [7] Çağman, N. and Enginoğlu S., Fuzzy soft matrix theory and its applications in decision making, *Iranian J. Fuzzy Syst.*, 9/1 (2012) 109-119.
- [8] Çağman N., Çıtak F. and Aktaş H., Soft int-group and its applications to group theory, *Neural Comput. Appl.*, 21(2012)151-158.
- [9] Çağman, N., Karataş, S and Enginoğlu, S., Soft Topology, *Comput. Math. Appl.* 62(2011)351 - 358.
- [10] Çağman, N., Çıtak F. and Enginoğlu S., FP-soft set theory and its applications, *Ann. Fuzzy Math. Inform.*, 2/2(2011)219-226.
- [11] Çağman, N., Enginoğlu S. and Çıtak F., Fuzzy soft set theory and its applications, *Iranian J. Fuzzy Syst.*, 8/3(2011)137-147.
- [12] Çağman, N. and Enginoğlu S., Soft matrix theory and its decision making, *Comput. Math. Appl.*, 59(2010)3308-3314.
- [13] Çağman N. and Enginoğlu S., Soft set theory and uni-int decision making, *European J. Oper. Res.* 207(2010)848-855.
- [14] Feng, F., Jun, Y.B., Zhao, X.: Soft semirings, *Comput. Math. Appl.*, 56(2008)2621-2628.
- [15] Feng, F., Li, Y. and Çağman, N., Generalized uni-int decision making schemes based on choice value soft sets, *European J. Oper. Res.*, 220(2012)162-170.
- [16] Jun, Y. B., Soft BCK/BCI-algebras. *Comput. Math. Appl.*, 56(1)(2008)1408-1413.
- [17] Jun, Y.B., Lee, K.J., Zhan, J.: Soft p -ideals of soft BCI-algebras, *Comput. Math Appl.*, 58(2009)2060-2068.
- [18] Karaaslan, F., Çağman, N. and Enginoğlu, S., Soft Lattices, *J. New Res. Sci.*, 1(2012)5-17.
- [19] Kaygısız, K., On soft int-groups, *Ann. Fuzzy Math. Inform.*, 4(2)(2012) 365-375.
- [20] Kaygısız, K., Normal soft int-groups, arXiv:1209.3157.
- [21] Liu, X., Xiang, D., Zhan, J., Fuzzy isomorphism theorems of soft rings, *Neural Comput. Appl.*, 21/2(2012)391-397.
- [22] Maji P.K., Biswas R. and Roy A.R., Soft set theory, *Comput. Math. Appl.*, 45(2003)555-562.
- [23] Molodtsov D.A., Soft set theory-first results, *Comput. Math. Appl.*, 37(1999)19-31.

- [24] Park, C.H., Jun, Y.B. and Öztürk, M.A., Soft WS-algebras, Comm. Korean Math. Soci., 23(3)(2008)313-324.
- [25] Pazar Varol, Banu., Shostak, A. and Aygün, H., A New Approach to Soft Topology, Hacet. J. Math. Stat., 41(5)(2012)731-741.
- [26] Sezgin, A., Atagün, A.O.: Soft groups and normalistic soft groups. Comput. Math. Appl., 62(2)(2011)685-698.
- [27] Sezgin, A., Atagün, A.O. and Çağman, N., Soft intersection near-rings with applications. Neural Comput. Appl., 21(2011)133-143.
- [28] Sezgin, A., Atagün, A.O. and Çağman, N., Soft intersection near-rings with its applications, Neural Comput. Appl., 21(2012)221-229.
- [29] Yin, Y., Zhan, J., The characterizations of hemirings in terms of fuzzy soft h-ideals, Neural Compt. Appl., 21/1(2012)43-57.